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1. Control rods used in nuclear reactor
are made of

(A) Zinc
(B) Platinum -
(C) Cadmium
(D) Lead

Name of the particle emitted in the
following reaction.

93NP239 — 94Pu239 +7?
(A) a-particle

(B) B-particle

(€) y-rays

(D) neutron

What should be the minimum length
of a plane mirror to get a full image
of a person of height 4 feet ?

(A) 4 feet
(Bj 6 feet
(C) 2 feet
(D} 1 feet
4. The focal length of a plane mirror is

(A) O

(B) 10 cm

(C) 20 cm

(D) o«

SF/M/11/2019/ 1I-A 3

5.

(A) 1D

(B) 2D

. The enzyme

The power of convex lens of focal

length 25 cm

(C) 3D
(D) 4D

is

The enzyme absent in human gastric

secretion but which is present in

first stomach of ruminants for

|
digestion of ai

(A) Cellulase
(B) Cellobias

(C) Sucrose

(D) Cellulose,

photosynthes
oxygen and

G

particular compound.

This compound is

Ribulose Biphosphate

Carboxylase a|

cts a CO,~fixer during
is, but it can also fix

works as oxygenase.

This activity takes place during the

process of

(A) Light reaction of photosynthesis

(B) Photorespiration

(C) Amino acid synthesis

(D) Proton transport in lipid synthesis

[ P.T.O.
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8.

10.

D)

C, —weat & F 8§ & - B gt 3 7
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i gt B
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()

(B)

€)
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11.

12.

13.

14.

T Teehieed Wit f forereretier @ FitE 98
(A) STt < WISl BRGNS ¢ ST &
(B) et & Srmafe 2 S @

(C) e H THTSERERRT ST
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WWWR—) P& fog
stfferar 3 =T B

AR
&

~A[P]
At
AR]
At
AlP]
AlR]

(B)
(€)

(D)

0.01M NaOH frewm a1 pH AF 8
(A) 05
(B) 09
(C) 02
(D) 12

1 ¥ ¥ a1 TRk Sgersh S e
e ?

(A) &

B) foes

(C) UrehsmEn

(D) A=A
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8. Which of the following processes 11. Ethyl alcohol is soluble in water

take place in C,-plants ? because it

. e ey ) A) forms hydrogen bonds with
(A) CO, is fixed initially with (A) ydrog

phosphoenol pyruvate water

(B) ionised in water

(B) CO, is fixed initially with (C) shows isomerization in water
phosphoglyceric acid (D) shows resonance in water
(C) CO, is fixed initially erythrose-
4-phosphate 12. For a chemical reaction R — P, rate
(D) CO, is initially fixed with of reaction isgiven by |
dihydroxyacetone phosphate AR]
(A)
At
o) AP
9. The operation of glycolate pathway (B) At
requires, which cell organelles ? AR]
€ ———
(A} Mitochondria ' at
| | AP]
(B) Mitochondria and chloroplast (D) AR|
(C) Mitochondria, chloroplast and
peroxisome W 13. The pH value of 0.01M NaOH
(D) Peroxisome and chloroplast solution will be
(A) 05
: ) . (B) 09
10. Inglycolysiswhen 1, 3, diphosphoglyceric o 02
acid is converted to phosphoenol pyruvic ([D; 19

acid the process of phosphorylation

specified here as
14. Which of the,following is not an

(A) Oxidative phosphorylation example of natural polymer ?

(B) Reductive phosphorylation (A) Wool
(C) Substrate level phosphorylation (B) Silk

) ] (C) Polyisoprene
(D) Photosynthetic phosphorylation (D) Nylon

SF/M/I11/2019/ II-A 5 [ P.T.O.
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15.

16.

17.

18.

19.

T T o IR e i R e B | ?
(A) O,
(B} N,
(C) H,
(D) NH,

FEHTT STty ot 379 §

(A) e s

(B) Fagw sfia

(C) AT 3 SAfH =0 < Sfia
D) SAmAARET

AR % Safafaea sftftam = ey o
yife TR T ?

(A) 1986

(B) 1996

(€) 2002

(D) 2010

st sifaes fafera Raa @
(A) 22 Tgmn

(B) 223

(C) 21

(D) SRiTa & ¥ L

oY TR 1 G we1 U SEE 8
(A) gl U IEH

(B) HoE T 3=

(C) =TT U FAH

(D) =7 foer v =m
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20.

21.

22.

23.

HA-A L T g ¢

(A) T HiE w7 U A - e
FerEr

(B) &= el U ue - A8 faeeht

(C) = fer udg Sam - A

(D) T =S U I - A

T St Wb el B W B,
(A) “liwwia g

(B) iR g

(C) wHa?

(D) S & ¥ IS 7=

2m/sec F T T TF HfH ILaler grad
TUor Y g N W ¢ | 98 FoRd Tid | o
Tffer < 3TR M ?

(A) 2 m/sec
(B) 4 m/sec
(C) 6m/sec
(D) 8 m/sec

el U Uadl 3 F THM BIoRE 0 F T
T A o § THwe o e 9 8, o
o g oY Wi gt Bt

(A} f/2

(B) 2f

(€) 0

(D) «




52

15.

16.

17.

18.

19,

Haber’s process is used for the
manufacturing of

@) o,

(B) N,

© H,

(D) NH,

Climax species means
(A)
(B)
(€)

Endangered organism
Extinct organism

Organisms thriving in the last
stage of succession

(D) None of the above

Biodiversity Act of India was passed
in the year

(A) 1986

(B) 1996

(C) 2002

(D) 2010

International Biological Diversity
Day is

(A) 22 December

(B) 22 May

(C) 21 June

(D) None of the above

The largest National Park of Madhya
Pradesh is

{A) Kanha National Park

(B) Madhav National Park
(C) Panna National Park

(D) Van Vihar National Park

SF/M/II/2019/ II-A

20.

21.

22.

23.

' C) 6 m/sec

Which one isnot correct ?
(A) Rani Jhansi Marine National
Park-Andaman Nicobar
Sanjay "andhi National Park-

New DelI’Ti
Van Viha‘r National Park-Bhopal

Silent Valley National Park-
Kerala

(B)

©)
(D)

Wind energy|is a source of energy

which is

(A) renewabl

(4]

(B) non-renewable
(C) thermal |
(D) none of the above

A man approaches a vertical plane
mirror at speed of 2m/sec. At what
rate does he gpproach his image ?

(A) 2m/sec
(B) 4 m/sec
(

(D) 8 m/sec

When a thin|convex lens is put in
contact withl a thin concave lens
of same focal length. The resultant
combination has focal length equal
to

(A) £/2
(B) 2f
(C) O
(D} o

[ P.T.0.
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25.

26.

27.

G AgE 50 Tt ¥ AR gbt of awgaii @
3ieh B T @ T § | 39 3 3 A I
A B < HT G S

(A) +5 SHEX

(B) —0.5 THEI=T

(C) —2 TR

(D) +2 SEIeR

R | T e ar g gen ¥ | 36 H
! TG ST T &

(A) drE-HieX i HeRl |
(B) =<1 TuSelt TeaHHI |
(C) e GEH T -

(D) Tormm diaR 12 O % ©H &1 a1 Td -

ST ST Hehdl &

A-IDEA fogm wa Wit foram g o
N u Wenfieht craam FHaEEs 2, e
T3 g S quafta? ?

(A) FM

(B) ofufy

(C) TEER

(D) T SrerfiEh!

TRA T wEe & ggan wue ged & i
HIHTFLATS ?

(A) FN IR © e AR

(B) F T

() T s

(D) s
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28.

29.

30.

31.

Tl T HATCR ST 9F1 W H gt O
T T §-T[ad ol TTeRT i o Tole TR
Fu T Q- ITaTi Tea A TR ?
(A) s-vErEd

(B) I-TTEETS

(C) TR ST

(D) I o § s e

HgER-SiA e T i srietst
WY (CSIR-IGIB) AR 2RI ¥€ @M
Torepfta Hifae- 19 % fow = v T T
Wi e mam s ?

(A) SEEt Hifag -19 s

(B) el

(C) diedt—aTtet

(D) <ei-faaen

frafafas & @ frm Foht T o 9 wem
Fifae-19 Uiml & o9 & o diflew
TR g <l a6 g ?

(A) = gEN e

(B) wafi fafires

(C) mTeh B

(D) =i frfies

TFE YRR T 3ufR U Hewqul whea
ifies 1 A R

(a) "=

(B} e

(C) W<EmrEH

(D) =gt
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24,

25.

26.

27.

A person cannot see objects clearly
beyond 50 cm. The power of tllae lens
to correct the vision is

(A) +5 dioptre

(B) —0.5 dioptre

(C) -2 dioptre

(D) +2 dioptre

A live wire is hidden in a wall. Its
position can be located with the
help of

(A) Watt-meter
(B) Moving coil galvanometer
(C) Magnetic needle

(D) The position of wire cannot be
located without breaking the
wall

A-IDEA is a technology business
incubator funded by Department of
Science and Technology is related to
which of the following field ?

(A) Agriculture

(B) Medicine

(C) Telecommunication _
(D) Information Technologgf

Who determines the minimum
support price of crops in India ?

{A) The Commission for Agricultural
Costs and Prices

(B) The Agriculture Ministry
(C) The Finance Commission
(D) NABARD

SF/M/11/2019/ II-A

28.

29,

30.

31.

Whatis the name of web-based portal
launched by Mlmstry of Panchayati
Raj to strengthen E-Governance in
Panchayati Ra_] Institutions across
the country ? ?

(A) E—Panchayat
(B) E-Gramswaraj
(C) Panchayat Online
(D) None of the above

What is the name of low cost paper
strip test kit for Covid-19 developed
by CSIR- Inst}tute of Genomics and
Integrative Biology (CSIR-IGIB} with
TATA sons ? |

(A) Genbody|Covid-19 Ag
(B) Feluda |
(C) PC-RTC \
(D) GB-Quick

Which of the followmg company has
developed the oral antiviral drug
‘Fabiflu’ for treatment of mild to
moderate CoYid-lQ patients ?

(A) Dr. Reddys Lab

(B) Lupin Ltd

(C) Glenmari( Pharmaceuticals
(D) Biocon Ltd.

One of the important compound acting
in human body as anticoagulant is
known as

(A) Serine .
(B} Heparin'
(C) SUeptorﬁycin
(D} Albumin'

[ P.T.O.
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32. T o v ger a1 [l “Swlim T ogEm 36, - O % fashedt #, St.dh o = o

Tgu” 6 TedET €, 1 Fed § FME?

(A) wifdTEmR (A) TS PE
(B) Hswam ’ (B) =37 SIS Bt
(C) atawft god : (C) womis S Fh
(D) S o (D) = it

33. Tl < st g ford ey # weem

e S T 7 37. $-H(H I BTN S TIH HE qAT /gl

el § ey F forw wwa o gean gE
(8) e e S st s i e o 7
(B) SIS TR () 1996 _
(C) T gfo (B) 2000
(D) SN st (C) 2006
) (D) 2016
34, SHaTuysT & I ST STeH ST TehREge,
5 R TS I SRR B 5 o ooy e & R s R
R 7 AT Irfiergat g o e S g ?
(A) 3o e ferwm T S &) el
(B) 3o affaelisH ga =21 gt B)
(C) STet, TUHF F HId 5 &9 H TETIH o () Rz TR
35. wdt C-4 mﬁwﬁqmﬁqﬁm, 30, e 1 3 Roer 47T 357 I S T
T R A ot e &, gt & e ek 3 o e € 7
(B) shol ARK (rr=afishi) B) W
(C) Skt (C) %
(D) Arge KR (Arfich) (D) vafeat
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32.

33.

34.

35.

The theory of evolution which proposeé
“Law of use and disuse” is known as

(A) Darwinism
(B) Mendelism
(C) Environmental struggle

(D) Lamarckism

On which plant the mulation was
first noticed by Hugo de Vries ?

(A) Mirabilis jalapa
(B) Oenothera lamarckiana
(C) Mimosa pudica

(D) Calotropis procera

The Anoxygenic bacterial
photosynthesis is different than
higher plant photosynthesis in
which parameter ?

(A)
(B)
(€)

It does not fix carbon
It does not release oxygen

Water is required as source of

reductant
(D) It releases carbon dioxide

All the C-4 photosynthetic plants
have specialized leaf anatomy, which
is known by the name

(A) Kratz Anatomy
(B) Kranz Anatomy
(C) Dendrochronology
(D} Yarwood Anatomy

SF/M/11/2019/ II-A
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36. In E-mail sending option, what is the

37.

38.

39.

meaning of BCC ?

(A) Blind Cau!‘bon Copy
{(B) Blank Co'mpose Copy
(C) Blind Compose Copy

(D) Blank Carbon Copy

When the firstinformation Technology
Act was paséed in India to provide

the legal framework for E-Commerce
and to deal with cyber crimes ?

(A) 1996
(B) 2000
(C) 2006
(D) 2016

What is the 'lname of the program
which is emb!ed in a semiconductor
chip during the manufacturing of

the compute% ?

(A) Embedde|d software

B) Firmware

(
(C) Inbuilt software

(D) Hardwar(!e

Which part of Saffron plant is used
to obtain the|spice ‘Saffron’?

(A) Dry stigma
(B) Leaves
(C) Fruits
(D) Petals

[ P.T.O.
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41.

42,

43,

Freafaftaa & @ w9 -u1 Hege it vl T\
1 T AT @ ?

(A) Hw AR

(B) @

(C) Tm

(D) Sqlad # F ¥ TE

feddan-DdMf sasiag ?
(A) @
(B) WA

(C) TGS
(D) wifew

o[k o Tt Tieer e aiTor W T e
! Gt BT g & ?

(A) 4

(B) 5

€ 6

(D) 64 Afvew

Tfd o Ui NI fad Sa T
STar e ?

(A) 16 aTaEER

(B) 15 ST

(C) 16 Taa=r

(D) 15 faa=R
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44,

45.

46.

47.

I e o T a1t <) T Wi et & ¢
(A) H,S0,

(B) HNO,

(C} H,CO,

(D) HCI

fora e T R o T e SR AT ] 7
(A) argAvEd

(B) &M & W_H

(C) 5=

(D) HY wifefeefi &=

3EuTa <l frm firspeng o 39T wmh g
A % fore R smman & 7

(A) M 3
(B) Fiet T
(C) warfwnt

(D) RTEH T

TR H e Sl T e & any TR TR
S IGIES

(A) BRHRH
(B) STEEN
(C) wifeam

(D) "Hew
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40. Which of the following is an example of

41.

42.

43.

Non-volatile memory of a computer ?

(A) Cache memory

(B) RAM
(C) ROM

(D) None of the above

Which one is water borne disease ?

(A) Cholera

(B) Fluorosis

(C} Influenza

(D) Tuberculosis

At which Ritcher Scale magnitude of

earthquake causes major damage to
the human population ?

A) 4
(B) o
(€) 6
(D) Above 6

International Ozone Day celebrated

every year on

(A)
(B)
€
(D)

16 October
15 October
16 September
15 September

SF/M/I1/2019/ II-A
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"44. Which acid 1

45,

46.

47.

s found in maximum

amount in acid rain ?

(A) H,SO0,

(B) HNO,
(©) H,CO,
(D) HCI

f

The largest reservoir of global

carbon is
(A) Atmosph
(B) Grasslan

{C) Oceans

erc

ds

(D) Agro ecosystem

Which alloy

|
steel is used for the

preparation of permanent magnets ?

(A) Chrome étcel

(B) Nickel steel

(C) Alnico

(D) Stainless steel

In vulcanization, rubber is heated

with followin'g element

(A) Phospho'x"us

(B) Iodine

|
(C) Sodium |

(D) Sulphur,

[ P.T.O.
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49.

50.

51.

T e el e Ot At % difeaw
AR §

(A) = 3

(B) ufeshet wethe

(C) =i gewiie o1
(D) e st

idete Wiz o froen sfdwrd =am Sar g ?
(A) Fe,O,

(B) CaO

(©) Sio,

(D) ALO,

Irmad et 7 16 3 &t & aca Feaa ®
(A) STeEhISH |

(B) il

(C) HahmoT ug

(D) R

= o wee 3 FEta E R
(A) Ef@ g
(B) I 5RO

() ot aren it g

(D) Infes bt g
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52.

53.

54.

& oy I9& St 1000 W ¥ifdd
5 fove 9% %/l a1 A, @ ITF I S
il

(A) 2x105J
(B) 3x105J
(C) 4x108J

(D) 300J

¥ sl
TR |

(A) 3= s=0H &

o SHI AR

(B) 3= Sl
(C) foraen 7 1ftrs < STA B &

Eatu|

(D) ST H & 1S el

Ife wah ar foraest gfeiy R §, =t 9= s
T A Sie féa ST & 9o $% SHEiE A A
e fen s 2 |l g wRAe Rw, @
R/R’ =1 AU &M

25
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48.

ST AT TR T

49.

50.

51.

Soaps are sodium salts of following

long chain compound

(A) Fatty acids

(B) Alkyl sulphates

(C) Benzene sulphonic acid

(D) Amino acids

Which one has the highest percentage

in portland cement ?
(A) Fe,O,
(B) CaO
(C) SiO,
(D) ALOQ,

In periodic table the elements of 16t

group are known as
(A) Chalcogen

(B} Halogen

(C) Transition metal

(D) Transuranium element |

The focal length of eye lens is
controlled by

(A) Iris

(B) Cornea

(C) Ciliary muscles
(D) Optic nerve

SF/M/11/2019/ T-A
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52.

53.

54.

The amount of heat produced in
5 minutes by an electric heater
rated at IOOOi W is

i
(A) 2x105J

(B) 3x105J
(C) 4x105J |

(D) 300J

A chain reaction is continuous due to

(A) large mass defect

}
(B) large energy

(C) production of more neutron in

fission ‘

(D) none of tl:'lese

|
A piece of wire of resistance R is cut
into five equal parts. These parts
are then connected in parallel. If
equivalent resistance is R’ then the
ratio of R/ R;' is

B =
®:
© 5
D) 25
[P.T.O.




55.

56.

57.

58.

59.

e g it sf B R
(A) =

(B) 50 Hz

(C) 60 Hz

(D) 100 Hz

S Ty it Gl (IAEA) 1 Feed
FEET

(A) ufE, B

(B) =, T

(C) 7% foeeht, e

(D) e, ifegzn

YR 1 T8 TS Thel T SAel-AT TR
it v FfaRa A o P T i g 7
(A) SR WeH

(B) ERT;

(C) =T e

(D) QERTET

Firffaa i & fFl TR R - e

¥ TAJE % ¥ 1 Wier Fra s ?
(A) 100 TreTRI™ e
(B) 100 fhctium A setiamse
(C) 1000 TFereim T
(D} 1000 fram HEH SHHTFEES

Ve ISaa AisHT (PMUY) o Shiehist st
T -1 W FATE ¢

(A) Tersret Fare

(B) wrHT forepr T

(C) Ueiferm iR wepfie 9 wate™

(D) i o Tefieptofia St T
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60. Ffafien # ¥ wH-d wRd Tisa it

61.

62.

63.

&, [ ok o e gien wall |
e & fo siftrga 2 7

(A) STRARIHFRR STOTTRIA I TieisRat &9
(B) WTd T T

(C) et SR Taawiic HH TR

(D) T e fom s

g T W T eI S 6 &
(A) ==

(B) wfsas

(C) st

(D) el 9,

STaR] TREdH W ATSHE T (IPCC)
ot o form ad i g ?

(A) 1984

(B) 1986

(C) 1988

(D) 1999

ot R e e ad g 7
(A) 1987
(B) 1986
(C) 1998
(D) 1999
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55.

56.

57.

58.

59.

SF/M/11/2019/ II-A

The frequency of direct current is
(A) Zero

(B) 50 Hz

(C) 60 Hz

(D) 100 Hz

Where is the headquarters of
International Atomic Energy
Agency (IAEA) ?

(A) Paris, France

(B) New York, USA

(C) New Delhi, India

(D) Vienna, Austria

The India’s largest single site
Ultra-Mega Solar Power Plant is
located in which of the following
State ?

(A) Uttar Pradesh

(B) Maharashtra

(C) Madhya Pradesh

(D) Telangana

Which of the following is generally
accepted as equivalent to the
one-carbon credit ?

(A) 100 kg of carbon

(B) 100 kg of carbon dioxide

(C) 1000 kg of carbon

(D) 1000 kg of carbon dioxide

Which Ministry looks after the

functioning of Pradhan Mantri

Ujjwala Yojana (PMUY)’ ?

(A} Ministry of Power

(B) Ministry of Rural Development

(C) Ministry of Petroleum and
Natural Gas

(D) Ministry of New and Renewable

.17

60.

61.

62.

63.

Which of the following Indian Nodal
Agency is authorized for dealing with
hacking phishing and other cyber
security threats ?

(A) Indian Computer Emergency
Response Team

(B) Center for Development of
Advance tlomputing

(C) Centre for Development of

Telematics

National Informatics Centre

This is not aniendangered animal of
Madhya Prad%:sh

(A) Tiger |
(B) Gharial |
(C) King Cobra
(D} Sloth Bear

(D)

Intergovemmlantal Panel on Climate
Change (IPCC) was established in
which year ?
(A) 1984

(B) 1986 !
(C) 1988
(D)

1999 ‘

|
The chemob)‘rl nuclear disaster
happened in
(A) 1987
(B) 1986
(C) 1998
(D) 1999

[ P.T.O.
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64. IJZIThareH foFd TE & TguU g 7 69, "I & Fufad o1 o evemr i gE
(A) R e
(B) WSt SEE0 (A) 23
(C) EHEPIWHESUT (B} 46
(D) et s (€} 22
(D) 44
65. s el RiogH weftd arht 7 fraes s @
BT ? 70. wAuTREl % Ry 30§ Afen e o
(A) S 7
(B) e (A) T
(C) wiNTgE (B) I
(D) weiRTES (C) HmE
(D) g
66. T MY % e Gdisa Fre & 9vg & &
e A i W-SPRh AN TR 2 77, rfifoeres < w1 qeem w9 &
(A) AB (A) ﬁzafaﬁa
B) B (B) T
(C) A (C) wal el
PO (D) T
67. (@:}rﬁmﬁaﬁﬁagﬂﬁwﬁﬁﬂ%? o ?}‘S@T% i 2
(B) AfErsiss (B) 2
(€) e (C) 3
(D) i (D) 4
68. T T FREh Y 3T R ? 73. it % ] Y T B B
(a) #fm (A) i
(B) fasg (B) &M=
(C) ien (©) Frmidm
(D) foer=ra (D) TEmR
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64.

65.

66.

67.

68.

Eutrophication is which type of
pollution ?

(A) Air poliution

(B) Ground water pollution

(C) Surface water pollution

(D) Soil pollution

Blue baby syndrome is caused due
to the consumption of which in
polluted water ?

(A) Arsenic
{B) Nitrate
(C) Fluoride
(D) Chloride

In which of the compatible blood
group for transfusion, no antibodies
are present in blood serum ?

(A) AB
B) B
C) A
(D) O

In Jurassic period belongs to the
era '

(A) Coenozoic

(B) Palaeozoic

(C) Mesozoic

(D) Archaeozoic

Book lungs are respiratory organ of
(A) Prawn

(B) Scorpion

(C) Snail

(D) Cockroach

SF/M/I1/2019/ O-A

19

69.

70.

71.

72.

73.

Total number; of autosomes in
fertilized egg of human being is
(A) 23 |

(B) 46 i

(€) 22 ‘

(D) 44 |

Leydig cells are found in which
mammalian organ ?

(A) Liver

(B) Kidney
(C) Stomach
(D) Testis

The purest form of commercial
iron is | -
(A} Wrought :iron
(B) Pigiron
(C) Cast iron
(D) Steel

Number of isotopes of Hydrogen is
(A) 1
(B) 2
€ 3
(D) 4

Structure of water molecule is
(A) Bent
(B) Linear
(C) Pyramidflll
(D) Spherical

[ P.T.O.
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74.

75.

76.

77.

78.

SF/M/II/2019/ 1I-A

e 3 wig Y wag W e g s
T ST ST &

(A) Ni

(B} Zn

(C) Sn

(D) Cu

ST eRR § ST AT ST A A Affsha
6 whid St 7

(A) SeTErdt

(B) =T

(C) geravii

(D) TOd: YshH

-4t g T Tt vgus @ 7
(A) O, (Teeiem) .
(B) CO (T WHISTHTEE)
(C) O, ()

(D) CH, (ffi)

e g verd T AT g ?
(A) TEEH

(B): IBAM

(C) vtz

(D) uFH & W

TR G (RN fi) w1 g 9o B
(A) TR

(B) FEA SRISETES

(C) W=

(D) FcH THIEES
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79.

80.

81.

82.

83.

AR ST TEMEHS TerisH 11T (BOD)
<o H vafdfa well &

(A) IR TR i I T wefia s
(B) 3w et

(C) -svaeiter gare it Iufefa

(D) Tl

= 7 & -t e At T Sg e v
q JAErt g ?

(A) TR SEAEEES

(B) TEgH HaETsS

(C) fasm

(D) FARMRAIRTE

HE TR 3 SIgaId & T ST S &
(A) SHifter

(B) =

(C) W

(D) FfEa

bt IfeRTd s et &
(A) igaferss s
(B) wHlgd

(€) wifes Fiftmmn
(D) areieTehre fereaTd

T2y i afirarE ST A |
varef MIYE % WFHed TF YU % S 6 R
e e g |98 R

(A) et

(B) wERH

(C) tiadieifm

(D) At
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74.

75.

76.

77.

78.

In galvanisation the surface of iron
is covered by following metal

(A) Ni -

(B) Zn

(C) Sn

(D) Cu

The nature of the reaction of formation
of quick lime from limestone is

{A) Exothermic
(B) Endothermic
(C) Irreversible

(D} Spontaneous process

Which gas is secondary pollutant ?
(A) O, (Oxygen)

(B) CO {(Carbon monoxide)

(C} O, (Ozone)

(D) CH, (Methane)

Bioplastic is made up of which
substance ?

(A) Nylon
(B) Teflon
(C) Polyethylene
(D) Maize Starch

The main component of Gobar gas
(Bio gas) is

(A) Methane

(B) Carbon dioxide

(C) Propane

(D) Sulfur dioxide

SF/M/I1/2019/ II-A
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79.

80.

81.

82.

83.

High Biological Oxygen Demand
(BOD) in water indicates

(A) Presence iof organic matter and
polluted water

Non polh}lted water
Pressure of insoluble substances
Rain water

(B)
€
(D)

Which of the following gas is mainly
responsible fo:r global warming ?
(A) Carbon dioxide

(B) Nitrous oxide

(C) Methane .

(D) Chiorofluorocarbon
I

The most abundant granulocyte in
human blood|is

(A) Basophils

(B) Neutrophils

(C) Monocytes

(D) Eosinophil

Purkinje cells are found in
(A) Cerebellar cortex
(B) Mammalian heart
(C) Voluntary cells
(D) Semicirm%llar canals
|

Neurosecretory cells of hypothalamus
secrete a product responsible for
contraction of uterus and delivery
of foetus that] is

(A) Prolactin
(B) Vasopressin
(C) Oxytocin
(D) Melatonin

| [P.T.O.
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84, T i fft d seiderm A e 89, P ddslh-wiws aignai g 7

V] 56 ST 8

(A) TSH (oT8UEE ISt gMH)

(B} GTH (THEr e gmi)

(C) ACTH (eeliHiiféhtaites sm)
(D) STH (@RI gW)

85. Uic(UH{EE FEERE Hi IS
(A) TERHISH
(B) I
(C) ued

(D) G

86. F,C = CF, 1 =1 i &
(8) T
(B) Forea
(C) HdH -6
(D) =4 -S

87. o3 o1 e T ToeA §
(A) Fe,O,
(B) Fe,0,
(C) FeS,
(D) FeCO,

88. Fm o § F—a yHTafeT agae & 7
(A) dt=t =
(B) R
(C) siheTge
(D) uifereiia
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90.

91.

92.

(A) FeO
(B) CaO
(C) SiO,

(D) FeSiO,

et Fe emgett & it fsreng @
(A) CuTd Zn

(B) Cutd Sn

(C) Cuw®@Ni

(D) Cu, Sn U Ni

e &, HE aRETE = | x g W

[FThid & 2T A SGHHTIAT

(A) x
(B) x*
1

(€) Pl

D) =

<ot =T frm, T o T =l ©
qioma & |

(a)
(B) ¥ouuH
(C) weil
(D) wam
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84.

85.

86.

87.

88.

SF/M/1/2019/ II-A

-In condition of stress, secretion
. of which hormone _is increased by

hypothalamus

(A) TSH (Thyroid Stimulating
Hormone)

GTH (Gonadotropic Hormone)

ACTH (Adrenocorticotropic
Hormone)

STH (Somatotropic Hormone)

Example of polysaccharide
carbohydrate is

(A) Glycogen

(B) Glucose

(C) Maltose

(D) Sucrose

F,C = CF, is a monomer of foilowing
{A) Teflon

(B} Glyptal
(C) Nylon-6

(D) Buna-S

Composition of siderite ore is
(A) Fe,O,
(B) Fe,O,
(C) FesS,

(D) FeCO,

Which one among the following is a
thermosetting polymer ?

(A) PVC
(B) Nylon
(C) Bakelite
(D) Polystyrene

- 89,

90.

91.

92.

Which of the
(A) FeO

(B) CaO
(C) Si'O'z !
(D) FeSiO;. . -

|following is"a slag ?.

'
|
|

Brassisa all%ny of following metals
(A) Cuand Zn _

(B} Cu and Sin

(C} Cuand Ii

(D) Cu, Sn and Ni ‘

i
!

The value of'the magnét’i:: field at a
digtancex&orpalong, strgight current
carrying conduictor is proportional to
4) x b

(B) x*

i
| T
|
|

<
!

(C)

M| an"'

(D)

I
i
|
|
1
1
1
1
1

Lenz’s law is|a consequence of the

law 6f conservation of .
|
(A) Charge
(B) Mass |

(C) Energy

{D) Momentum

. .[RT.O.
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95.

96.

. TR % FemIgeR, @ @& 91 S gEhE
& § ST ST ], 39 W Ui FE eem

el s

(A) YR Jrehig Feed W

(B) 3AicH rarehia Foied W

(C) Frrchi FETed o TR il R
(D) Fr=ehid e & IRET W

U3 T & R Rt st crort e
ot ?

(A) 200 eV

(B) 20 eV

(C) 200 MeV

(D) 2000 eV

T 80 Ah w1l & Igd w9 & fohat
Ryt S aewdt e ?
(A) 4 fERR 20 9 TF
(B) 40 UTRR 6 W2 o
(C) 50 ¥fFRE 4 =2 T
(D) 20 YORR 5 92

T Sive fawm Fom, & -
e fafite woft 3 Ao & Fanedt o
Rfew e = Ter & e 5 S %
e ey e g ¢

(A) wrEm

(B) HagH

(C) T

(D) WIEshIETE
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97.

98.

99.

FSSAI fra ot & Wy TRl e WS
H 7=l F T SR W RFawR @R ?

(A) T

(B) R HEYH
(C) iR

(D) A=

W 1 el Tl -Sease 3
(A) S -4

(B) T

(C) wsHe

(D) 37gae

eaeh FTH Bt ¥

(A) TG SARRTST & TWS |

(B) < i3 ey TmT 8 < @

(C) V& g F AN TR QAT B ]
(D) 3feafea i@ =g =&

1 5 9 -1 O e e SNt § 7
(A) BUS

(B) CAR

(€) P

(D) T & HE A8
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93. According to Faraday’s law, the total

94.

95.

96.

SF/M/II/2019/ T-A

charge induced in a conductor that
is moved in a magnetic field depends
upon

{A) Initial magnetic flux

(B) Final magnetic flux

(C) Rate of change of magnetic flux
(D) Change in magnetic flux

The energy released per fission of
LU nucleus is nearly

(A) 200 eV
(B) 20eV
(C) 200 MeV
(D) 2000 eV

What steady current can be drawn from
an accumulator of capacity 80 Ah ?

(A) 4 ampere for 20 hour
(B) 40 ampere for 6 hour
(C) S0 ampere for 4 hour
(D) 20 ampere for 5 hour

The National Skill Development
Corporation, a Not-for-profit Public

97.

98.

99,

(D) TCS

FSSAI to develop app to prevent food
wastage in pe|{rtnership with which
company ? |
’ |
(A) Google i
|

(B) Nasscom Foundation

(C) Infosys

India’s first Pico-Satellite is
(A) GSAT-4
(B) INSAT

(C) STUDSAT
(D) ANUSAT

Network congestion occurs
(A)
(B)
€

|
In case of traffic overloading
When a system terminates

|
When coximection between two

nodes terrminate

None of tile mentioned
|

(D)

A L 100. Which of the following is a Computer
Ll.rmted .Company has joined hands Network Topdlogy ?
with which company to enhance the
digital skills of the country’s youth ? (A) BUS
(A) Paytm (B) CAR
(B) Facebook (©) Triangle
(C) Google |
(D) Microsoft (D) None of t‘hese

|
25 [ P.T.O.
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